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QUESTION 1

At the system management and search console level, which three actions can be performed by the administrator role?
(Choose three.)

A. View tenant list.

B. Modify tenants.

C. Remove a node from the HCP system.
D. Commit a HCP system upgrade.

E. Modify network security settings.

Correct Answer: ABE

QUESTION 2

A customer wants to archive e-mail directly from their Windows Exchange servers into a HCP. Which two capabilities of
the HCP would interest this customer? (Choose two.)

A. HCP supports direct ingestion of e-mail using the SMTP protocol.

B. HCP supports direct ingestion of e-mail using the CIFS protocol.

C. The HCP protocol supporting direct e-mail ingestion supports up to 50 attachments per e-mail.
D. The HCP protocol supporting direct e-mail ingestion supports up to 32 attachments per e-mail.

Correct Answer: AC

QUESTION 3

A customer ordered a HCP 500 DL system. One of the nodes must be replaced. The HBA is in its original
configuration.

Which three actions should you perform? (Choose three.)

A. Configure the HBA to boot from LUN100 of the connected Hitachi storage system.

B. Reload the HBA firmware.

C. Enable the HBA BIOS.

D. Set the HBA topology to point-to-point.

E. Set the boot sequence to a USB boot device.

Correct Answer: BCD
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QUESTION 4

What applies when configuring DNS with a HCP?
A. Create a delegated HCP subdomain.

B. Create a new domain.

C. Create a NetBIOS entry.

D. Create a new forest.

Correct Answer: A

QUESTION 5

A customer has recently purchased a HCP 500. You will be performing the install. Which two describe how many LUNs
per node are required for installation? (Choose two.)

A.10OS LUN
B. 4 OS LUNs
C. 2 data LUNs
D. 4 data LUNs

Correct Answer: AC

QUESTION 6

Which three actions can be performed using the administrator role on a HCP? (Choose three.)
A. Create tenants.

B. Download internal logs.

C. Grant permission to view user accounts.

D. Allow access for user account configuration.

E. Permit a user to view system status with the System Management Console.

Correct Answer: ABE

QUESTION 7

When a replication link is failed over, what happens to the tenants and directories on the replica HCP?
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A. They are marked online.
B. They become read-only.
C. They become read/write.
D. They are marked offline.

Correct Answer: C

QUESTION 8

How does a HCP protect object metadata?

A. The metadata protection level is matched to the DPL level set for data;

B. The administrator sets the DPL policy required for all HCP metadata;

C. The MDPL mechanism automatically creates two copies of the metadata;
D. The administrator must manually execute the metadata copy command.

Correct Answer: C

QUESTION 9

A customer has a HCP that is becoming full. They wrote data with a four week retention period and have not written any
data in the last six months. They want to enable the disposition service. What will happen?

A. Disposition would delete every object in the default namespace.

B. Disposition would delete every object.

C. Disposition would not delete any object.

D. Disposition would duplicate every object in the default namespace.

Correct Answer: B

QUESTION 10

You are assigning LUNs to a HCP 300. 1 TB drives are being used to create the RAID groups. After allocating the
required space for the OS LUN, how much space will be available per data LUN?

A. 1250 GB
B. 1666 GB
C. 2485 GB

D. 4970 GB
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Correct Answer: C

QUESTION 11

Which two are needed to perform a HCP upgrade? (Choose two.)
A. PuTlY

B. system management console

C. SSH keys

D. administrator password

Correct Answer: AC

QUESTION 12

A customer will be using multiple namespaces in their HCP implementation. They want to use a single common protocol
to access all namespaces. Which protocol would you enable to support this?

A.CIFS
B. WebDAV
C.STMP

D. HTTP(S)

Correct Answer: D

QUESTION 13

A customer wants to enhance the value of their HCP system and is investigating the use of chargeback reporting based
on usage patterns. What are three business benefits of implementing this feature? (Choose three.)

A. increased performance

B. efficient bandwidth allocation
C. improved security

D. accurate usage charging

E. optimized storage allocation

Correct Answer: BDE

QUESTION 14
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A customer recently acquired a HCP 500. They want to setup storage host groups in this format: HCP2_R2_U20_A as
recommended by HDS. Which three storage host group naming conventions apply? (Choose three.)

A. HCP2 - namespace
B. U20 - unit number
C. R2 - rack number
D. R2 - destination

E. A- path

Correct Answer: BCE

QUESTION 15

You are performing a new HCP 500 installation. Upon booting the nodes, you are not presented with a prompt to enter
Alt-E for entering the Emulex BIOS. How would you correct this problem?

A. Return the nodes as faulty.

B. Perform the firmware update procedure.
C. Replace the HBA cards.

D. Reboot all the nodes.

Correct Answer: B
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